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261901/ EBX EHC1=7 (R) 5 14.37 2[ 1121 &R EX HRJ 5 15.16
3913033 EH R4 TiF—mzd (3 b 14.39 3[ 1216 K# B HEAC 5 15.21
411200[#£1A BE ERXCa2=7 5 14.45 ml 4 11215FH #E HRJ 5 15.21
5 O1[EER &5 R IZHJAC 5 14.61 0.7 5| 1305 |EkE & O =KSC b 15.26
6 211=F S8 HRJ 5 14.97 m|_ 6] 1216[F} RK FHEAC 5 15.29
7 19|MA &4 flipEEY 57 b 15.00 71 1801:ZA 18 22 JAC 5 15.56
8 19 IJ.J§ A= SLlipE o> 7 5 15.07 8l 1216]=Ffe  X¥0 FHEAC 5121490
3 1 04| 18 EXO 57T [ 14.69 41 1] 130618 & O =KSC b 1493
2 05|AJII ILF FA)—brxy bk b 14.69 2| 1801 |#v1=17v o72vr ex [72 124 JAC 5 15.11
3 7| X = K ARAC 5 15.06 3| 1104 |MAR X EEL ST 5 15.39
B 4 01ER  BE WHIa2=F7 b 15.44 B 4| 1200({EAH EX% EXCaZ=Z7 5 15.43
T 5 21|53 &K HRJ 5 15.5h 1.0 5| 2606 [3rH F EEE— 5 15.64
m|[ 6 6|/ K3 HEAC 5 15.73 m| 6] 1301[7IJIl =3k JOXEAC 5 15.66
7 2112 #& HRJ 5 15.78 T 1121l =¥ HRJ 5 15.69
231)1m  [EiH K#SC 5 DNS 8| 1121[f688 B&K HRJ 5 15.98
5 1 04>V #fT |BEEI ST [ 14.72 6] 1] 1104/ $RE EED ST 5 15.39
2011042V B8R |BEEYS T 5 15.08 2113010 E mBE JOXEAC 5 15.45
3191303|#A # 3l ILF—I4 (B b 15.63 3[ 1301 | &% JXEAC 5 15.67
B 4] 1305[/MII 1Bt O =KSC b 15.84 B 41131110 $4& ZZEBFKSRC 5 15.83
5| bH|1305[FE =X UM =KSC 5 15.94 1.8 bl 1104|FHm E=® EEL ST 5 16.12
m| 6[1306|/hg8 ZZ= UM =KSC 5 15.98 m| 6| 1305|EH BXE [05na7=ZKSC 5 16.53
7161901 [EEFH B R#C1=7 G b 16.46 7] 1311 [FEJI fit ZBFKSRC 5 16.69
811201 [#Ek  # WHY1=7 b 16.67 8| 1311[=¢ == T BFKSRC 5 16.86
7 1[2702[2EH IFRE |[vrvEeErs5—+ b 14.73 8| 1] 2/02|E MLk SvUEVHSE— b 15.11
2| 1301[AE kB [2OXEAC 5 14.80 20 1819JII.E Kk FEESS T b 15.96
3[1200[ L3 =X EXC2=F7 b 16.06 3[ 12168 3t FEAC 5 16.92
B 4[1605|HME FIE FAY—r%vy bk b 16.27 B 461901518 EWF mHCa-7 0 b 17.16
3| b 1203[F#  BA HEAC 5 16.41 09| bl 1311]|=; 7 3T EFKSRC 5 17.28
m[ 6 04|FAR A EEHY ST 5 16.44 m| 6| 1216[FJIl #E AiEAC 5 17.72
7 01[#E4«K BEA |TIXEAC 5 16.96 J[1311]=% Z=X 3T EFKSRC 5 18.46
8 16lE MH—H [FEAC 5 17.73
ElZ=] E =2 A
1112178 556 RAAC 5 419
2161901/ FEXK L7 G b 14.37
~ 3[91303[KH 4% S E—vz4 () b 14.39
R 4[1200[1£18 BE EXCa1=F7 5 14.45
~ 511801 [pklm  E5 (2 JAC 5 14.61
8 6[1104|=Bk EIE EEHY ST 5 14.69
71 1605[H]JII  DH FAY—btxy bk b 4.69
8l1104[> vy #Efy |BEFH ST 5 4.72




RESULT

6 FELF 100m
B TS
EIE[EE] £ % FEAE 2| ok EIE[EE] & =Z EZ 2] &
T[_1]1602|=24& %= |[RAZSRC 6 13.67 2 _1[1306[&HI_—= Uoh1-KSC 6 1404
2[61201[ EH &7 R/ANEGR) 6 13.74 2| 1305[lLH —%= USAKSC 6 14.28
3[ 180T RTIE Z=H |AlI=hJAC 6 13.83 3| 1602|FE E#  |RAZESRC 6 14.32
B 4[1801|EE =8 721 JAC 6 13.99 ®( 4] 1305|685 W& USATKSC 6 14.35
21 5[ 2607[M%& BETESC 6 14.10 34 5| 1606|A #HZ= FAJ—FkFxvk 6 1444
m| 6/61901|Fhpm 58 |m#mva=7 GO 6 14.16 m{_6[1216[&FO EM HiEAC 6 14.44
7612018 A =) 6 14.29 7] 1807 [8EEH %A 7= JAC 6 1455
8| 12161l %5 FIEAC 6 14.60 g8l 1121 ki _#B=7y [HRJ 5 14.78
3[_1]71602[g1H &4 [RAZESRC 6 14.03 A1 1201[aiH == WHS1-7 6 14.16
2112011l /NE  [RASa=7 6 14.40 2] 12012 KAY31=-7 6 14.59
3l61901[ K #ES "HC21=7 () b 14.42 3| 1702| AN XkEHE |BMT7Z v T 6 14.67
B _4|1201[MMA A® |WA>1—7 6 14.59 B 4| 1121|#%%E =&  [HRJ 6 14.87
14 5[1104[@ER WEZE [EX/5T 6 1461 25 b| 1201 KBI1_RJY WHS21-7 6 15.04
m[_6|1216[BE L FEAC 6 14.99 m| 691303 =% Tix—mz4 (B 6 1511
7[121[I0A 3% [HRJ 6 15.05 71200 /Hh 1 EAXAC1-7 6 15.13
61201 HH %00 FUNEIG) 6 DNS 8| 1216l47e =& HEAC 5 15.22
5[ 11120150 0k KH>1—-7 6 14.90 6 1[1301[1IIKX &5+ [IRXAEAC 6 15.00
2161901 3B == mHU1=7 () 6 14.99 2| 15140 BE B EFRC 6 15.07
39130354 =& TLF—9z4 (B b 14.99 3[61901[#kHF VY [m@mva=-7 GO 6 15.08
B 4] 1602[EBFEA ©B>5 |[RAZESRC 6 15.13 B[ 4[91303[F)I H&mm|m [sr¥—vz( ) 6 1538
0.6 5[1801[6RE I 72121 JAC 6 15.35 14 B[ 1614[FA_ mie FEBERC 6 15.65
m| 6[91303[{EEE #&F SLx—vz4 (B b 15.38 m| 6| 16065[;BEE HHE FA)—k®Ry bk 6 15.65
761201 [7Em DR R/ EGE) 6 15.65 7| 1514|&8H s SHEEFRC 6 15.60
81201155 fB3F H>1-7 6 15.70 862701 EMH ZJy YSD _KIDS(Z) _ 6 16.56
T 1[1602[FBK m&fe [RAZSRC 6 15.08 8] _1[1/02|ArH_ =oh |RM7rvIIL__6 15.01
2113117l it [ EBKSRC 6 15.14 2| 1704|ZH FHE |E&®JC 6 15.27
3| 1305[71#E = VBN EKSC 6 15.17 361901 |MA W& |m#va-7 (0 6 15.30
B 4[1217E%E #%E  |[%AAC 6 15.23 @[ 4 1305|NE mE UsAT-KSC 6 15.39
0.4 5[ 1306[F#f ¥H V5N 7KSC 6 15.67 01 5[ 1602[&FL =8 |RAXESRC 6 15.40
m[_6|1602|=R =B |RAZSRC 6 15.74 m[ 6| 1702[EX % SM7YTIL__6 15.73
T104[MH B EEXEY S J 6 DNS 7[1602[ L0 B4 S A:ZSRC 6 15.78
O_1|2/02[F)_F |[orvEvF5—F 6 15.23 T0[_1[ 1306[EH B#x _ |[06a7=KSC 6 15.32
2| 1201 5A%&E #0 KHS1—-7 6 15.59 2] 1104|E&EF =nl EEXo 5 J 6 15.80
3[1217| &k ke |RAAC 6 15.73 3| 1120|#H & EL DA 15.87
m_ 4] 1216[FKk _H<H |[ABAC 6 16.33 Ml 4]61237[8F BK | —amhkisr (=0 6 16.04
0.6 5[ 1201 |mES &= WHS1—-7 6 16.34 05 B[ 1120[FEE &= |ZdxFxvJ 6 16.16
m| 6| 1200|FE#® %= EXCa=Z7 6 16.47 m|_ 6] 1121]8] @ﬁa% HRJ 6 16.48
7[1201;ZH ¥ KHS1—-7 6 16.98 T[1702| LB = RM7 Y7L 6 16.62
T1[_1]1306| B2 ©T& UbhN-KSC 6 16.87 12| _1] 1306|BA H#4AdHk |ObhKSC 6 16.68
2[61910[78)[1 T % Ep,umﬁﬂﬂ(m 6 16.08 2 16065 HE oA FAJ—kFv K~ 6 16.87
36191024 %t |2anBEr(= 6 16.09 361901 | =l  |m#va-7 (0 6 17.38
[ 4[61910[BA 215 |SABBELR b 16.14 m| _4[1311|HLE =8 ZBFKSRC 6 17.41
10 [ 5]1602[2% E2# |RA=ZSRC 6 16.21 42 5[ 1200[B&E #F EAXC1=-7 6 17.82
m[_6[1301[EE %3 JOXEAC 6 16.42 m|_ 6]61201|@ =& =N E(R) 6 2% 16.80
1104[HEE #fE [BEIST 6 DNS 1602[= )11 #H3 |[RAZESRC 6 DNS
T3]_1]1306|@A BEE |[0bh-KSC 6 16.50
2| 1200[AF =8 EAC2-7 6 16./6
3| 1305[&Fh 7%%1‘ UBAEKSC 6 16.79
B 4| T40T[FFH =  |[BIEELs57 6 16.84
11 B[ 131T1[iE AR [XEKSRC 6 16.94
m[ 6[61901|F HE |s#va-7 = 6 17.75
71 1602[FH B S AZSRC 6 18.20
J[E] =| K £ FELE 3 ‘Eﬁ
1[1602[F& ¥z [RAZSRC 6 367
261207 FH =7 FUNE(R) 6 3.74
AR [T 31801 RTE =W [AIZHJAC 6 13.83
Z [ _4[1807[8H =& 72 1= JAC 6 13.99
b [ 5[2607|MA =5 BE TR SC 6 14.10
8 [ 6l61901[hps BEE |[s#iva=-7 0 6 14.16
7] 1201[8H =& KA 1-7 6 416
8| 1602|HIH & R ASESRC 6 4.23




)

|

RESULT

6 FEBF 100m

| B | K 2 FELA SoE% HlE|EE] K £ FE% 2 o8k
1 R AR FAAC 6 3.35 2] 1113018 Kic JXEAC 6 3.20
2 hHE E FAY)—bxy bk 6 13.49 2113018/ 1t JXEAC 6 13.31
3 BAx X YSD_KDS(R) 6 13.81 3| 1801[FaIEp  HE=F 72 JAC 6 13.98
4 KE  &K&E NlEELESY ST 6 14.05 m 4[ 1801|H ZEF 124 JAC 6 14.05
5 =% B HRJ 6 1411 06| b[1104[H% E—8 |[EFI/ZT 6 14.21
6 hig #BX R (2HJAC 6 14.21 m| 6] 1216[fEHd  BBAR FHEAC 6 14.36
7 PRl s FA)—br%v bk 6 14.21 T 11213k F KA HRJ 6 14.46
8 ISR -PN 722 HJAC 6 1450 91303 [ A] B SLE—v14 () b DNS
1 TEH FBA WH>1-—7 6 13.63 4] 1] 1307[F#H& =28 [aXEAC 6 13.70
2 = #Hz WHIa1=F7 6 13.76 2012171k AKX KAAC 6 14.47
3 B TLIJ7A48—X 6 1419 3[1201[JIE R WH>2—7 6 1456
4 AR ZER K#SC 6 14.29 ml  4le2701[/NB/E FF |YSD KIDS(m) 6 14.62
5 EEa WHZa1=7 6 14.38 04 B[1701[F0H =& JACR®E 6 14.76
6 SEH IET] K AAC 6 14.55 m| 6[62701|ER =& YSD KIDS(z) 6 14.84
7 EH = m#HC1=7 GO 6 14.64 7[1216[Er BE FEBAC 6 15.21
8 AKX e FA)—hxy bk 6 14.79 8] 2606[1r Y [EIL RIS — 6 15.91
T ER F WH>1—7 6 14.45 6 1| 1217[2H =¥ SKAAC 6 14.45
2 EH & JXEAC 6 14.75 21 1203|788y B AB |HEAC 6 15.02
3 FaE RE FAAC 6 14.98 3[62701[%E 1l FeE YSD _KDS(F) 6 15.68
4 JeJll KR JXEAC 6 15.42 Al 4]62601[/N\gE 1&KER R~— T (R) 6 15.88
5 H*E I s x—vz4 (B 6 15.46 05 B[ 1121[FE% AR HRJ 6 15.89
6 a8 JACRE®M 6 165.569 m| 6] 1203[g1H E¥E HEAC 6 16.10
7 MESERCFS FKAAC 6 15.69 7[1514|%@A BEC PR FHRC 6 16.10
ShE B2 T |ZREKSRC 6] __DNS _
T Hf BE FKAAC 6 15.83 8 1] 1401[FH Hx& B/EELYS T 6 15.49
2 EEOEA O =KSC 6 15.87 2| 1120|358 A EhixFv S 6 16.15
3 FA EX NILEES ST 6 15.94 3| 11214k FE HRJ 6 16.35
4 kB &n HRJ 6 16.03 B 4] 1203/ ik BR3t ERAC 6 16.52
5 ZFH BREE |[7AJU—F%xvE 6 16.08 00| B[ 1203[#¥\EE X HEAC 6 16.74
R HEAC 6 DNS m| 6] 1401]/\K ZE BllEErs>7 6 17.27
N B Ehx¥vT 6 DNS 7|61910{HF FRZ N |FEmBELFG) 6 17.36
9l 1 Ny EHE —WmdTar () 6 15.81
2 IS [E3L —ZWatTaF () 6 16.37
3 AEH & |—Fmitlsf GV 6 16.63
B[ 4 BAL T AiEAC 6 17.81
0] b AR T Edhzx¥vT 6 17.88
m ot RE HEAC 6 DNS
=il L Edhzx¥vT 6 DNS
[ K % A
1 HE AT JXEAC 6 2.93
2 HAE _{tth JXEAC 6 3.13
~ 3 A KRAAC 6 13.35
2[4 BE E FAY)—FrERY b 6 13.49
~ 5 HEE B wWHIa2=7 6 13.50
8 6 A BEZB |[3XEAC 6 13.58
7 AR &4 NILEES ST 6 3.69
8 TZH #HE WHY1=-F7 6 3.62




)

|

RESULT

4 F4+ 100m

1 IE A I FIE[EE] £ =% TEZ = o
1 1 R IZHJAC 4 14.53 2 1] 1602[/AH HEXE FARESRC 4 6.26
2 HRJ 4 15.47 2[1602|B2Xx EHE RAZESRC 4 16.69
3 EERIL HE |[z#moa-7 G 4 15.59 [ 1121 RJ)I 3B HRJ 4 16.77
B 4 HRJ 4 15.75 ml 4{ 1201 FEK WHY a21=7 4 17.17
35 FEAC 4 15.95 0.7 bl 1201|HO ##& WHY2=7 4 17.47
m| 6 R IZHJAC 4 15.96 m| 6] 1602{fE = R KESRC 4 19.33
7 EXCa2=F7 4 16.12 1801 [g&EKR —7¢ 2 JAC 4 DNS
8 2 (2HJAC 4 16.14 1217 ;&% g/b & ARAC 4 DNS
3 1 %j{;‘%SRC 4 16.23 4] 1[1602|EE =ET1& EAESRC 4 16.43
2 EEHY ST 4 16.23 21 2702|5BH# #B3F [crrevysy—+ 4 16.46
3 FAY—bxy b 4 16.25 3| 1216|#E TR FEAC 4 16.71
B 4 3T EFKSRC 4 16.31 B 4] 1602| 1L FR& RAZESRC 4 16.73
9 5 JXEAC 4 16.38 26| 5|61901|FEAX = mHCL1Z7 () 4 16.86
m|[ 6 HRJ 4 16.95 m| 6] 1602(#E %I RAZESRC 4 17.30
7 FHiEAC 4 16.97 7 1602;xE T R AZESRC 4 17.66
8 HiEAC 4 17.07 8| 1602[HEH Jva R AZESRC 4 18.51
5 1 O =KSC 4 16.37 6 1] 2/02|2K 1B SyvEVHSE— 4 16.88
2 FRPBEL(E) 4 16.44 2(61910|80 #h3FE FHREBELG 4 17.07
3 FAY—bxy b 4 17.16 3[ 1200|Hs  mxid EXCa=Z7 4 17.44
4 ML= 7 G 4 17.69 B 4] 1200[&kK BFE EXCaZ=7 4 17.84
5 mEC1Z7 (®) 4 17.85 1.3 5[ 1401|)\K DFH |BllEELIST 4 17.88
K AAC 4 DNS m| 6]1200{& T EZx EXCaZ=7 4 18.31
7 IZHhJAC 4 DNS 1301[2H Eh JXEAC 4 DNS
7 1 O =KSC 4 17.78
2 O =KSC 4 18.21
3 Oon=KSC 4 18.28
Bl 4 JXEAC 4 18.44
05 R AFESRC 4 19.21
m[ 6 R I2HJAC 4 20.56
7 ~—7(&) 4]s= 18.11
IE ] A I
1 2124 JAC 4 1453
2 HRJ 4 15.47
~ 3 EREIL HE [mmra=-7 0 4 15.59
A 4 HRJ 4 15.75
~ 5 HEAC 4 15.95
8 6 R IZHJAC 4 15.96
7 EXCa2=ZT7 4 6.12
8 I JAC 4 6.14

10




RESULT

- 4E£2F 100m
SOBKS
‘=] K Eﬁ ME£% °F 8% s FES] K £ PE4 = 08k
1 1[1605[H#EF Ef# FA)—kxy bk 4 14.92 21 11 1216|FE #A AEAC 4 15.25
2| 1523 HEkt R#SC 4 15.05 21 13111 EXE ZZBFKSRC 4 15.41
3| 1301[F8 B3| JXEAC 4 15.10 3| 1201[hPE i WHS1=7 4 15474
el 412702[deL & SvvEUIh—k 4 15.23 Bl 4[62701[HE =tb YSD KDS(z) 4 15.68
28 S5l 1121|HE #x HRJ 4 165.62 271 5] 1203|[mH —F HEAC 4 15.82
m|{_ 6[1121|/mH #E— HRJ 4 15.69 m|_ 6| 1121[HZE #H=E HRJ 4 16.29
71 2702[#8F BEX SyvEVIE—k 4 15.71 711311 EJE} 2% ZZEFKSRC 4 16.43
H21[FE = HRJ 4 DNS 8l 1104|==% = EEH 5 J 4 16.45
311 1305|&x i [oshiKSC 4 16.31 4] 1[1217[lu8 #ak ZKARAC 4 15.62
21 2606|/NEE BA |Bis— 4 16.76 21 1301 1K JXEAC 4 15.92
3| 1605[MmF K&k FAY—bxy bk 4 16.96 3| 1121k AE HRJ 4 16.69
B 4[1216|FEX BE BiEAC 4 17.00 B| 4] 2606[FA X FEE 4 16.99
1.2] b|1801[HA =X 1 (2HJAC 4 17.24 18] 5[ 1216[ L& BA FEAC 4 17.38
m{_6/1104|HE FHER [EEHYZT 4 17.39 m| 6] 2606(7Ek Fidk FEE 4 17.51
71 1201[F&E4E #F WHSa2=7 4 17.46 711201 [fER AR &% |2 =7 4 17.86
8l62601 I = R—TCR) 4122 1593 8] 13010k X JXEAC 4 18.07
5| 1]|61910[B&EH FRFD FRWEELLE) 4 15.88 6] 1]12702|#H E£F SyyEVIE—F 4 16.76
2| 1305[FJ)Il _BEABR |[u05h7ZKSC 4 16.41 21 1301 1luA i JXEAC 4 16.96
3|1 1200({FF BX EXCa1=F7 4 16.78 3[ 13061 3kX O =KSC 4 17.28
B 41311 KRE &3] R EKSRC 4 17.28 Bl 4[1200[Fx BE EXCaz=7 4 17.59
1.2 b5|1301|FHFHE HF JXEAC 4 17.47 1.8] b5|61910|A%E ANFH FREBELE(RE) 4 18.04
m| 6[2606|#EH Z=i— EEE 4 17.98 m| 6] 2606;%K X5 EEE_ 4 18.06
71 1104[Ke8 BHA |[EEIFT 4 18.05 71 2606| &4 X EEE— 4 18.18
8| 1305 [F1H B UM =KSC 4 18.08 1301 %H B3 JOXREAC 4 DNS
7] 1] 1305|=; B O5N=KSC 4 16.39 8| 112/02|E H¥E SwoEVTr—k 4 16.67
211311 [shjE  FIHD ZEKSRC 4 16.79 2|1 2702|8kJI1 1=k Sw EVGE—F 4 17.56
3] 2606[ KB #H*E EEE— 4 16.84 3| 1305|/EE K= UOom=KSC 4 17.97
B 4| 112138 H#Et HRJ 4 17.84 Bl 4[2702[BA ?f’*j: SvyvEvss— 4 18.16
29| bH|1301[3EEH EA JXEAC 4 18.30 16| b|61237|#\F ZEWHALTEF () 4 19.06
m|_ 6[1203["MH mBE HEAC 4 18.85 m| 6[61237|88F&F %?j—EB —&IETEF () 4 19.46
2803[&H KA Sl 4 DNS 712606| A8 H£YE [EIE_ 4 19.67
1217 A £ FAAC 4] _DNS
B & =] K FiE£% F FC8%
111605 HE EfE FAY)—bxy bk 4 14.92
2| 1623[fEX REHt K#SC 4 15.05
~ 31301 [&FEE B3| JXEAC 4 15.10
x 41 2702[dk % SvvEVvss—k 4 15.23
~ 5| 1216[1F&E #K HiEAC 4 15.25
8 6| 1311[JIIE EE ZEKSRC 4 15.41
71120178 $hifE WHI1=7 4 5.44
8l 1127 [H%E e [HRJ / 552

11




RESULT

= A =TT F@EEUT) 100m
FCEKS
HllE|EE] K £ RS F SoE% [ e | #ES] K g PE4 = E08%
T 1]91303[FJI] =@ ShF—vI4 (B 3 16.24 21 1[61901[ILA m== U217 ) 3 6.22
2191303 (LA Fi% SiF-—v14 (3 3 16.46 2161901 ;1% ®ies "HU1-7 G 3 16.88
3|91303|&H = SL¥—vr4 () 3 16.80 3[ 1203|giA  #= HREAC 3 17.05
m|  4[91303| KK EHF SuE—vr4 () 3 16.81 Bl 4[1602(FEE HZE RAZESRC 3 18.26
03[ 5[2702[&% B SxoEvTF—F 3 17.16 1.7 5] 1602[BE &F& RAFESRC 3 18.33
m|_ 6[1200[KE8 HT& BEXa1=7 3 17.32 m| 6] 1201[#H & WHY a21=7 2 18.96
711602[(8H BH&E R AESRC 3 17.84 71 1217|158 777« <9% [ZRARAC 3 20.71
8l91303[F )% &Y A F—vzd (B 3 17.87 16021+ )i RARESRC 3 DNS
3 1[1819[FEAR =< oF|REFIST 3 16.81 A 1 1200] @ Z== Aoa1=—7 3 18.18
ABEN P S SHC2=7 3 3 16.97 2| 1311|&R  #3F 3T EFKSRC 3 18.31
3| 1606[FE =3 FAY—bxy bk 3 17.76 3[1201|EHA HEF WHYa21=7 3 18.66
B 4]1203[H =% |EEREAC 3 18.65 B 4] 1819[KK& #A SulpE Ly S5 T 2 18.83
18] bH|1121|EB3H5 #5 HRJ 3 18.85 1.70_5[1201]|4)Il <%& |KAPa21=7 3 19.64
m[_6[1201[5B = WH a2=7 3 19.62 m| 6[61901[ZF@E #k =HU1-7 ) 2 21.40
71619015 R8 &3 REO1ZT7 (®) 2 21.77 1217188K  #& FKARAC 2 DNS
12174 BEHZE  |RAAC 3_DNS I3TT[/ME S EF [ZEKSRC 3]_DNS
51 1]61901[ 1L BRAB BT G 2 17.08 6 1] 1401 |mmHE BE BllEErsS7 3 17.92
2161901|FER =% 27 ) 2 17.74 21 1301|Kde %4 JXEAC 2 18.80
3[1819|HA ®E Ry ST 3 17.85 3| 1120|F&%x & ELVEDFEE 19.00
B 4[1200| A ¥E EXYa=Z7 3 18.73 Bl 4 1311EBRK ST S [KEFKSRC 2 19.73
1.8 _5|61901[EEAR IOFB =MT1=7 Gn) 2 19.14 06 G[1311|=F B ZBFKSRC 2 19.74
m| 6[1301|HF &HZE JXEAC 2 20.10 m| 6] 1602[ILH EX RAZESRC 3 19.99
711201 [Fxk WHAS2=7 1 20.14 71 1819)TH fulie EY 57 3 20.13
8161901 [FhE Z3l RHU1Z7 )2 20.56 8| 13011 F #H¥ JXEAC 2 20.23
7] 1] 1819|#A% #%E SLEES ST 2 18.80
21 1104[5F #xK EEXP) 2 19.28
3/ 18015 = 1 (ZHJAC 1 19.52
B 411208 EHR EhxFy S 3 19.91
09| bH|1605(mHA E=x= FAY—bkxy bk 1 21.41
m| 6[61237[ILE  #K —ZmATEF (B 1 23.07
1120|e4 Hk ELFED A DNS
- A—TUBFEELEUT) 100m
FEKR
HIE]|XRE] K £ FELE F S0 8% HIE|EE] K 4 B4 g2 20 5%
T _T1]91303[KH HE4E Sh¥—v4 () 3 15.59 2] _1]62701|F®E #HE YSD KIDS(F) 3 6.63
2011215 B— HRJ 3 15.77 AREIEINESES fELES ST 3 16.72
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